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WEST BENGAL STATE UNIVERSITY 

B.A. Honours/Programme 1st Semester Supplementary Examination, 2021 

PHIHGEC01T/PHIGCOR01T-PHILOSOPHY (GE1/DSC1) 

Time Allotted: 2 Hours  Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Answer Question No. 1 and 2 compulsorily and any two from the rest  
১ নং এবং ২ নং pেűর উtর আবিশয্ক এবং অবিশŶgিলর �থেক �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any ten questions from the following: 
িনmিলিখত �য-�কােনা দশিট  pেűর উtর দাওঃ 

2×10 = 20

(a) What is meant by ‘quality’ and ‘quantity’ of categorical propositions? 
িনরেপk বচেনর ‘gণ’ ও ‘পিরমাণ’ বলেত কী �বাঝায় ? 

(b) What is meant by ‘distribution of terms’? 
পেদর বয্াপয্তা বলেত কী �বাঝায় ? 

(c) Name the different types of opposition of propositions. 
বচেনর িবেরািধতার িবিভn pকারgিলর নাম �লেখা। 

(d) Convert the following proposition. 
All flowers are not fragrant. 
‘সব Ɏল সুগnী নয়’ —  বচনিটর আবত�ন কেরা। 

(e) Is simple conversion of A proposition possible? 
‘A’ বচেনর সরল আবত�ন িক সmব ? 

(f) Distinguish between sentence and proposition. 
বাকয্ ও বচেনর মেধয্ পাথ�কয্ �দখাও। 

(g) ‘Only the members are voters’. Give the logical form of this statement and state 
which term is distributed. 
‘�কবলমাt সদসয্রাই �ভাটদাতা’ —  বাকয্িটর যুিkিবjানসmত rপ দাও এবং �কান ্  পদিট বয্াপয্ 
হেয়েছ তা বেলা। 

(h) What is null class? 
শূনয্গভ� �Ëণী কী ? 
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(i) Express the following sentence in Boolean notation and draw Venn diagram: 
 All non-s are p. 
িনmিলিখত বাকয্িট বুলীয় িলিপেত pকাশ কেরা এবং �ভনিচt �দখাওঃ 
 সকল অ-s হয় p। 

(j) If an argument has three statement variables, how many rows will be there in the 
construction of its truth-table? 
যিদ একিট যুিkেত িতনিট বচন gাহক থােক, তাহেল তার সতয্সারণী গঠেন কয়িট সাির থাকেব ?  

(k) Use truth-table to define the logical connective ‘ ’. 
সতয্সারণীর dারা �যৗিkক �যাজক ‘ ’–এর সংjা দাও। 

(l) If A and B are false, x and y are true, what is the truth-value of the following? 
যিদ A এবং B িমথয্া হয়, x এবং y সতয্ হয়, তাহেল িনmিলিখত বাকয্িটর সতয্মূলয্ কী হেব ? 
 )]~()([~~ ByxA  

(m) If p is false, then determine the truth, value of rpp )~( . 

যিদ p –িমথয্া হয়, তাহেল rpp )~( –এর সতয্মূলয্ িনধ�ারণ কেরা। 

(n) What are the names of valid moods of syllogism in first figure? 
নয্ােয়র pথম সংsােনর �বধমূিত�gিলর নাম কী ? 

(o) Give an example of ‘Fallacy of four terms’? 
চািরপদঘিটত �দােষর একিট উদাহরণ দাও। 

(p) What is meant by ‘existential fallacy’? 
‘অিstমলূক �দাষ’ কােক বেল ? 

(q) What are the different types of figures in categorical syllogism? 
িনরেপk নয্ােয়র িবিভn pকার সংsানgিল িক িক ? 

(r) Show the symbolize form of Mill’s Method of Agreement. 
িমেলর অnয়ী পdিতর সাংেকিতক আকারিট �দখাও। 

(s) Represent ‘Ghost do not exist’ by Venn diagram. 
‘ɛত �নই’-�ক �ভনিচেt rপািয়ত কেরা। 

(t) If ‘A’ proposition is true then its corresponding E is ____, I is____, O is ____.  
যিদ ‘A’ বচন সতয্ হয় তাহেল E বচন____, I বচন____ এবং O বচন____ হেব। 

  

2. Write short notes on any two from the following: 
িনmিলিখত �য-�কােনা dিটর  উপর সংিkp টীকা �লেখাঃ 

5×2 = 10

 (a) Opposition of Proposition. 
বচেনর িবেরািধতা। 

(b) Rules of obversion. 
িববত�েনর িনয়মাবলী। 

 (c) Boolean interpretation of Categorical Proposition. 
িনরেপk বচেনর বুলীয় ভাষয্। 
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 (d) Fallacy of illicit minor and illicit major. 
অৈবধ পk �দাষ ও অৈবধ সাধয্ �দাষ। 

  

3. Test the validity of the following syllogism or syllogistic forms by means of Venn 
diagram.(Any two) 
�ভনিচেtর সাহােযয্ িনmিলিখত নয্ায় বা নয্ায়াকারgিলর �বধতা িবচার কেরা।(�য �কােনা dিট) 

5×2 = 10

(a) AAI — IV. 
(b) Some scientists are Philosophers, since some mathematicians are philosophers and 

all mathematicians are scientists. 
িকছু িবjানী দাশ�িনক, �যেহt িকছু গিণতj দাশ�িনক এবং সকল গিণতj হল �বjািনক। 

(c) EAE — I. 
  

4. Test the validity of the following with the help of truth table. (Any two)   
সতয্সারণীর সাহােযয্ �বধতা িবচার কেরা।(�য �কােনা dিট)  

5×2 = 10

(a)  BA  

 BAAB / . 

(b)  PQRQP ~/~)]([   

(c)  qqppqp ~/,)~(~  
  

5. Use truth-tables to determine whether the following statement forms are 
tautologous, self-contradictory or contingent. (any two) 
িনmিলিখত বচনাকারgিল sতঃসতয্, না sতঃিমথয্া না আপিতক —  তা সতয্সারণীর সাহােযয্ িনণ�য় 
কেরা। (�য �কােনা dিট) 

5×2 = 10

(a) )](~)[()]([ rrqqpqp  

(b) )~(~~ ppp  

(c) )(~~)( qpqp  

  

6. Explain and illustrate Mill’s method of difference. 
িমেলর বয্িতেরকী পdিত বয্াখয্া ও িবচার কেরা। 

6+4 = 10

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

 their own respective colleges on the same day / date of examination within 1 hour after end 
 of exam. University / College authorities will not be held responsible for wrong submission 
 (at in proper address). Students are strongly advised not to submit multiple copies of the 
 same answer script. 

 
——×—— 

 


